E8A
FrR9—

Fr29—
X
FrR9—
EEEN
FrRI—

FIPRI-f
29—

Aw=b
Fv25—

E=5-
=L

NI
Ovo

ATV

251K
L—v

LRWPI+RI—

o BEOI AZEAHM (UL94 V-0BSE) ZERLE L.
(KC-1280.280)

o BB DT AT T, (KC-1280. 280)

o BEBDILCEBUEMRNZERTDIEICLD BE

KC-1280-1-EP-UL

HRELNRILP Y+ RIT—

@ @ ‘ FLAME-RETARDANT LEVEL ADJUSTERS
) - . 3
BEMEIANIVFPI AT —

HEBROBEI ST I zO@LE T, (KC-1280-E)

UL94 V-0. (KC-1280, 280)

* RUBMELCRTSARSAN-RAD+FhY bH'dH
DERINBESHTT,

o Y+ I NI—HRIMI DI, MEE - MERICEN
TWEY,

© Rubber on bottom uses flame retardant conforms to

© Rubber on bottom is non-transitional. (KC-1280, 280)

© Uses conductive material in rubber on bottom to avoid
static electricity with precision equipment. (KC-1280-E)

e Cross-recessed cut behind thread for Phillips driver makes
for easy installation.

* Shaft worked as integrated form, providing excellent
load-bearing and shock-resistant characteristics.

1
E)

P -

CONDUCTIVE LEVEL ADJUSTERS

(KC-1280]

ot B: v Ik /AT REEE(SUS304)
HN—/RF L 8§k (SUS304)
BES/IFLroOElLydA

(EPDM) TS v 7

off E:80°%5°

(KC-1280-E]

ot B: v Ik /AT REEE(SUS304)
HN—/RF L ik (SUS304)
E%,/ITFL 2oLy 3d L (EPDM)

o KA L : SHEHHE

o g E:80£5

o REIEHEK : 2.6X10°Q/sq

o (RREIEHIER : 8.4X10°Qcm

(KC-280]

ot  HE:veI7b/HEEERRRMERE(SWCH)
HN—/ SEEENR (SPCC)
B,/ IFLy7OELy3d A

(EPDM) 75w
e XA L yrIN N /TinH-ETEBIOX—
3B (MFZn-C)

°@ [E:80°+5
TN - i
ol e UM OTELBIELE T,
o EBEYUI-VIATHEELET,
o BEOTLRTL—THRELET,
© BERDT Ll EIRE - BT TEBOEE A
(KC-1280-E)

(KC-1280)
® Material: Shaft: Stainless steel bar (SUS304)
Cover: Stainless steel plate (SUS304)

KC-1280-E-2 -M. Sp‘?c'f" Bottom: Ethylene propylene rubber (EPDM)
cations Black
‘ ® Hardness: 80° +5°
(KC-1280-E]
| © Material: Shaft: Stainless steel bar (SUS304)
9 ‘ Cover: Stainless steel plate (SUS304)
_ : o Bottom: Ethylene propylene rubber (EPDM)
jar Specifi- s . A
‘ cations b Finish: Electrolytic polishing
‘ ® Hardness: 80°+5°
||| o Surface resistivity: 2.6 X 10°Q/sq
j © Volume resistivity: 8.4 X 10°Q-cm
mi (KC-280
I ! I ® Material: Shaft: Cold rolled carbon steel wire (SWCH)
¢D Cover: Cold rolled steel plate (SPCC)
Specifi Bottom: E:élllfne propylene rubber (EPDM)
cations - ) .
® Finish: Shaft/Cover: Zinc plating black chromate
KC-280-2-EP-UL treatment (MFZn-C)
® Hardness: 80° £5°
ENEES ® Rubber on bottom is not non-combustible or non-
transitional. (KC-1280-E)
BERES B |Rons MXEw F |EEERREEKN | NEEE (g) mE SRS
Product No. Material |©7 L1 | L2 [La/\W®D| Woit ™ |"Vertical load | Mass Code Rl HE Ei]
® | 160(130|16|30| 60 | M20X2.5 9.80 456 31634
® 130(100|16|30| 60 | M20X2.5 9.80 385 31635
@® | 97 |70 |16/24| 60 | M16X2 8.82 240 31636
25vLz| @ 94 | 70 15]19] 50 |[M12X1.75 7.84 145 31637
Stainless | @ | 70 | 50 |12|17| 40 | M10X1.5 3.92 80 31638
® 78.5| 60 |12|13| 40 | M8X1.25 2.94 65 31639
@® | 97 |70 |16/24| 60 | M16X2 8.82 240 31813
® | 94 |70 (15/16| 50 |M12X1.75 7.84 145 31814
® | 160(130|16|30| 60 | M20X2.5 9.80 456 31626
® 130(100|16|30| 60 | M20X2.5 9.80 385 31627
@® | 97 |70 |16/24| 60 | M16X2 8.82 240 31628
. ® | 94 |70(15/19| 50 |M12X1.75 7.84 145 31629
# Iron
® | 70 | 50(12|17| 40 | M10X1.5 3.92 80 31630
® 78.5| 60 |12|13| 40 | M8X1.25 2.94 65 31631
® | 169 {130(25/30/100| M20X2.5 9.80 800 31632
® | 169|130|25(30| 80 | M20X2.5 9.80 655 31633

@ :ROHS10IERXIINGE A : RoHS10ERICHINTIRETT,

HAREBDTENFECHRLBDFET,



